
Q1) Attempt any five of the following [5 × 2 = 10]
i) Define financial management.

ii) Define the economic system.

iii) Define public good.

iv) Define micro economics.

v) What is the financial advisor?

vi) State the defence budget structure.

Q2) Attempt any four of the following [4 × 5 = 20]
i) Financial advisor

ii) Defence account department

iii) Defence budget

iv) Micro economics

v) Auditor general

Q3) Attempt any four of the following [4 × 5 = 20]
i) State economical theory of Defence.

ii) Explain the concept of public good.

iii) Explain the defence and development.

iv) Explain principles of the financial system.

v) Explain the defence budget allocation.
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Q4) Attempt any two of the following [2 × 10 = 20]

i) Explain in detail the role of financial advisor of Defence.

ii) Explain in detail the role of the defence account department.

iii) Explain in detail the structure of a five years defence plan.
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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]
i) \$m`ZmpÝe`b _°ZoO_|Q> ì`m»`m Úm.
ii) Am{W©H$ ì`dñWm ì`m»`m Úm.
iii) nãbrH$ JwS> ì`m»`m Úm.
iv) _m`H«$moBH$m°Zm°{_Šg ì`m»`m Úm.
v) \$m`ZmpÝe`b A°S>ìhm`PaMr åhUOo H$m`?
vi) g§ajU AW©g§H$ënmMo ñdê$n gm§Jm.

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]
i) \$m`ZmpÝeAb A°S>ìhm`Pa
ii) {S>\o$Ýg AH$mC§Q> {S>nmQ>_|Q>
iii) g§ajU AW©g§H$ën
iv) _m`H«$mo BH$m°Zm°{_Šg
v) Am°{S>Q>a OZab

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]
i) g§ajUmMm Am{W©H$ {gÓm§V gm§Jm.
ii) nãbrH$ JwS> g§H$ënZm ñnï> H$am.
iii) g§ajU Am{U {dH$mg ñnï> H$am.
iv) \$m`ZmpÝe`b {gñQ>r_Mr _ybVËdo gm§Jm.
v) {S>\o$Ýg ~OoQ> AbmoHo$eZ ñnï> H$am.
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àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]
i) g§ajUmVrb \$m`ZmpÝeAb A°S>ìhm`PaMr ŷ{_H$m g{dñVa ñnï> H$am.

ii) {S>\o$Ýg AH$mC§Q> {S>nmQ>©_|Q>Mr ŷ{_H$m g{dñVa ñnï> H$am.

iii) g§ajU n§Mdm{f©H$ `moOZoMo ñdê$n g{dñVa ñnï> H$am.




